= = I

Tw Ngiie @fte Fredfiom =
R0 [REER o1 AGIEa FESo
grated N St

I

=R

ferinr a4, o=l @ @i agfE et
CIRA[F (21517 5eT Sy Feerer, GIpl

T NI @ s O 6 @I e [T a6y
ST (R ST (AT QRN @ SO TSP
(ST, G168 (2NATY) QTR ed ST

Pl R |

0d. TR (FEE SHN@ANE
SIETARWS @7, GGG oIET $9 8 (T
@

FCITRR6  (FEE SHNEE
G (IR SHNEAT FATSER
NlGRIER

Q- Y : O L |

gqrol- & : F 3970 3 |

qIol- © : C = (F-32)*5/9 @ fefy
M

qi?- 8 : ¢ for% ¥

q- ¢ : CF IS |

FCATRR6  (FEE SHNEE
G (FE SHNEAT FATSER

_______

| = |

FEERIRG  (FET SN@E
CEPIT  (FET SN NSET
vy

#include<stdio.h>

#include<conio.h>

main()

{

int F,.C;

printf("Enter Ferhenheight temperature =");
scanf(*%d”, &F);

C = 5/9*(F-32);

printf(“Celsius temperature=%d\n”, C);
getch();

}

Enter Ferhenheight temperature = 59

Celsius temperature = 15
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#include<stdio.h>

#include<conio.h>

main()

{

int C, F;

printf(“"Enter Celcius temperature =");
scanf(“%d",&C);

F=(9*C)/5+32;

printf(“"Ferhenheight temperature=%d\n”, F);
getch();
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Enter Celcius temperature = 100
Ferhenheight temperature = 212
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#include<stdio.h>
#include<conio.h>
main()
{
inta, N, s;
s=0;
a=1;
printf("Enter value of N=");
scanf(*%d”, &N);
while (a <= N)
{
s=s+a;
a=a+1;
¥
printf("Sum=%d", s);
getch();
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Enter value of N=10
Sum=55
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